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Q.51 Which of the following are the member 
of New Development Bank(NDB)? 

1. Egypt 
2. Uruguay  
3. Bangladesh 
4. United Arab Emirates (UAE) 
5. South Africa 

Select the correct answer using the code 
given below. 
 

(a). 2 and 5 only  
(b). 1, 2 and 5 only  
(c). 1, 3 and 5 only  
(d). 1, 2, 3, 4 and 5 
 

Q.52  With reference to Special Drawing 
Rights (SDR), consider the following 
statements: 

1. The SDR is also known as ‘Digital 
Gold’. 

2. The SDR is neither a currency nor a 
claim on the IMF. 

3. SDRs can be exchanged for the U.S. 
dollar, the Euro, the Chinese 
renminbi, the Japanese yen, and the 
British pound sterling. 

4. The SDR currency value is calculated 
weekly and the valuation basket is 
reviewed and adjusted every five 
years. 

Which of statements given above are correct? 
 

(a). 1, 2 and 4 only  
(b). 2 and 3 only  
(c). 3 and 4 only  
(d). 2, 3 and 4 only  

 
Q.53  Which one of the following 
organisation has established Anti-Corruption 
Working Group (ACWG)? 
 

(a). G-20 
(b). Financial Action Task Force 
(c). World Bank 
(d). International Monetary Fund 

Q.54 Which of the following countries have 
never been part of Non-Proliferation Treaty 
(NPT)? 

1. India 
2. Pakistan  
3. Iran 
4. Israel 
5. North Korea 

Select the correct answer using the code 
given below: 
 

(a). 1, 2 and 3 only  
(b). 1, 2 and 4 only  
(c). 2, 3 and 4 only  
(d). 1, 2, 3, 4 and 5  

 
Q.55 With regard to 5th Schedule of the 
Constitution, consider the following 
statements: 

1. The Governor is empowered to 
declare an area to be a scheduled area. 

2. Each state having scheduled areas has 
to establish a Tribes Advisory 
Council. 

Which of the statements given above is/are 
correct? 
 

(a). 1 only 
(b). 2 only 
(c). Both 1 and 2 
(d). Neither 1 and 2 

 
Q.56  Which of the following dynasty made 
Vesara style of temples? 

1. Chalukyas of Badami  
2. Hoysala dynasty  
3. Rashtrakutas 

Which of the statements given above is/are 
correct? 
 

(a). 1 and 2 only  
(b). 2 only  
(c). 3 only  
(d). 1, 2 and 3 

 


